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Track Multiplicity

entries [#]
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30 hours of data with hits in all trackers

mom
Entries 627
Mean 1.633
Std Dev 2.23
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momentum [GeV/c]

events [#]

> 2 GeV/c

t

Entries 211
Mean 16.18
Std Dev B.658




Accumulated Hit Pattern without reco Cuts

30 hours, for p >2 GeV/c
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Cherenkov track resolution

= SHTI Example of the fit for 240 hours of data

S 45+ || = 1.mrad tracking taking with 1 mrad tracking:

E 45 2 mrad tracking = F Entries < 660
c [t 2 = Mean -0.3121
O 354 E = Std Dev 2.269
= H M 3 # / ndf 46.47 | 42
— 3H i E Constant 27.75 £ 1.44
8 g \’\\ ) 25 Mean -0.393 + 0.074
e 250 0 // A = Sigma 1.724 + 0.060
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~ > one measurement requires ~100 hours (assuming p > 3 GeV/c)
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